ITB No. 19-101181 ITB Name: HDPE Pipe Liners

DEPARTMENT OF PURCHASING AND CONTRACTING

BID TABULATION

	BIDDER(S)			CONTECH ENGINEERED SOLUTIONS, LLC		
ITEM NO.	COMMODITIES OR SERVICES	UNITS	MEASURES	UNIT PRICE	EXTENDED PRICE	
1.	Liner Pipe, 10-inch ID X 10 ft. long high density profile wall polyethylene pipe with threaded joints without need for butt-wielding or bell and spigot joints in accordance with enclosed Minimum Specification. Bidding on: (Manufacturer's Name and Model Number)	500	L/F	\$18.67	\$9,335.00	
2.	Liner Pipe 12-inch I.D. X10 ft. long high density profile wall polyethylene pipe with threaded joints without need for butt- welding or bell and spigot joints) in accordance with enclosed Minimum Specification. Bidding on: (Manufacturer's Name and Model Number)	500	L/F	\$20.88	\$10,440.00	

Bid Opening: 12/30/2019 Price Schedule Opening:12/30/2019

3.	Liner pipe 15-inch 1 D x 10 ft. high density profile was polyethylene pipe with threaded joints without need for butt- wielding or bell and spigot joints in accordance with enclosed Minimum Specifications. Bidding on: (Manufacturer's Name and Model Number)	3,000	L/F	\$30.17	\$90,510.00
4.	Liner Pipe 18-inch I. D X 10-f.t high density profile wall polyethylene pipe with threaded joints without need for butt-wielding or bell and spigot joints (see Note 1) In accordance with enclosed Minimum Specifications. Bidding on: (Manufacturer's Name and Model Number)	3,000	L/F	\$40.58	\$121,740.00

5.	Linear Pipe, 21-inch I. D. X 10-ft. high density profile wall polyethylene pipe with threaded joints without need buttwelding or bell and spigot joints (see NOTE 1) in accordance with enclosed Minimum Specifications Bidding on: (Manufacturer's Name and Model Number)	500	L/F	\$56.07	\$28,035.00
6.	Liner Pipe 24-inch I.D. X 10-ft. long high-density profile wall polyethylene pipe with threaded joints without need for butt-welding or bell and spigot joints (see NOTE 1) in accordance with enclosed Minimum Specifications. Bidding on: (Manufacturer's Name and Model Number)	3,000	L/F	\$67.23	\$201,690.00
7.	Linear Pipe, 27-inch I. D. X 10-ft. high density profile wall polyethylene pipe with threaded joints without need buttwelding or bell and spigot joints (see NOTE 1) in accordance with enclosed Minimum Specifications. Bidding on: (Manufacturer's Name and Model Number)	3,000	L/F	\$83.55	\$250,650.00

8.	Liner Pipe, 30-inch I.D. X 10-FT high density profile wall polyethylene-pipe with threaded joints with need for buttwelding or bell and spigot joints (see NOTE 1) in accordance with enclosed Minimum Specifications. Bidding on: (Manufacturer's Name and Model Number)	2,000	L/F	\$101.48	\$202,960.00
9.	Liner Pipe, 36-inch I.D. X 10-FT high density profile wall polyethylene-pipe with threaded joints with need for buttwelding or bell and spigot joints (see NOTE 1) in accordance with enclosed Minimum Specifications. Bidding on: (Manufacturer's Name and Model Number)	1000	L/F	\$131.34	\$131,340.00
10.	Liner Pipe, 40-inch I.D. X 10-FT high density profile wall polyethylene-pipe with threaded joints with need for buttwelding or bell and spigot joints (see NOTE 1) in accordance with enclosed Minimum Specifications. Bidding on: (Manufacturer's Name and Model Number)	100	L/F	\$171.46	\$17,146.00

11.	Liner Pipe, 42-inch I.D. X 10-FT high density profile wall polyethylene pipe with threaded joints with need for butt-welding or bell and spigot joints (see NOTE 1) in accordance with enclosed Minimum Specifications. Bidding on: (Manufacturer's Name and Model Number)	500	L/F	\$193.06	\$96,530.00
12.	TOTAL (For price comparison purposes Bidder adds prices from the "Amount" column for Item No 1 through 11 above and enters the results.			\$1,160,376.00	
13.	A discount: Price reduction for each Full Truck-Load Delivery. Bidder state per each Delivery a Fixed Dollar Reduction if the County orders Full Truck-load Quintiles			\$0.00	
14.	14. Grand Total				\$1,160,376.00
Attenda	Attendance at the Mandatory LSBE Meetting (Yes/No)		No		
Separate Sealed Price Schedule (Yes/No)		No			
LSBE Ber	nchmark/GFE	LSBE Benchmark/GFE		No	

Agent:	
Witness:	